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e Please check that this question paper contains 11 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 32 questions.

e Please write down the Serial Number of the question before
attempting it. :

e 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer
on the answer-book during this period.
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All questions in both the sections are compulsory. =
Marks for questions are indicated against each.

Questions No. 1-5 and 17-21 are very short-answer questions

~carrying 1 mark each. They are required to be answered in one

sentence each.

Questions No. 6-10 and 22-26 are short-answer questions
carrying 3 marks each. Answers to them should normally not exceed

60 words each.

Questions No. 11 - 13 and 27 — 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each. :

Questions No. 14-16 and 30-32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.

2




Qe A
SECTION A

1. Sreufyer S gfer dfe |
Define oligopoly.

5. wE A AR ¥ A w A T S W T A @ R o w3 e
- g, oftoa i (QHM)WWWW%? - 1

What is the behaviour of average revenue in a market in which a
firm can sell any quantity of a good at a given price 7

3. §ofe awfwme % oRuw AR | (] 1

Define macro economics.

4, TS SAEH o F g @ 2 | - 1

What does an indifference curve show ?

5.  Huid ord @ uRam SR ey 1

Define marginal cost.

6. I WS dF & GRw ARt | wEemET froue Al @ ol A # SR e
i B @ | ‘ 3

Define production possibilities curve. E’Xplain why it 1is downward
sloping from left to right.

7. @@qﬁﬁﬁwﬁwm%qﬁmﬂw@l ‘ L 3
ot | .
THfERE awR § T e % qRomm §eeEt |
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Explain the implications of ‘homogeneous products’ in a perfectly
competitive market.

OR

Explain the implications of ‘differentiated products’ in monopolistic
competition. '

8. TH IUAH %l @ TR X IR YH swdm s g sk w dqew 4 2 1 X
ST 9¢ STl 8 | ST faver F TeraeT ¥ SudRH & ST 9HesT | 3

A consumer consumes.only two goods X and Y and is in equilibrium.
Price of X rises. Explain the reaction of the consumer with the help
of utility analysis.

9. TH 3RS dwrﬂ gaq FE R FEHT YE FAT B | TW HEHE F ST F
AT 98 w FASK Fg ST 8 | 39 I ¥ WE 3R Ifafied arml # weer
HINT | THEIET | ; 3
A producer starts a business by investing his own savings. He

employs a manager to look after the business. Identify the explicit
and implicit costs from this information. Explain.

10. % o o Wiy fe & frg W O 9 A a

@ I,
(i)  TH, 9
(i) o & | , 3

Draw supply curves showing price elasticity of supply equal to
1) Zero,
(i1)  one, and
(iii)  infinity throughout.
Tz Frefafaa 597 Fac gf¥EiT vianaa & [T 597 967 10 & @7 W 8 |

Note : The following question is for the Blind Candidates only, in lieu
of @. No. 10.

Ui @eer I R e see ot ¥ i 9T ST

Distinguish between perfectly elastic supply and perfectly inelastic
supply.

58/2/2 4




11. 6 GO IS0 B OHEEdT § T sfoeed U S SEEROT FHARy | 4

Explain the concept of Marginal Rate of Substitution with the help of
a numerical example.

12, TF TTERE T 10 S T W U A% @ 11 3Ed wied § | 9% A W
13 Tt T 130 =9 F05 T TEAT & | e ffy § A S S @6 9
AT | 39 FE & IMER WA % % AGK T A feordt S | 4

A consumer buys 11 units of a good at a price of T 10 per unit. He
can buy 13 units of the same by incurring an expenditure of T 130.
Calculate price elasticity of demand by the percentage method. Also
comment on the shape of demand curve based on this information.

13. Wmmﬁmﬁwﬁaﬁ?mﬁwmsﬁtﬁmwmﬁm%?

THEET | 4

Skl
wﬁa(m)ﬁwmﬁm%?@ﬁawﬁa&ﬁ?aﬁwwﬁ%éﬁm
FARY |

How does the change in tax on a product influence the supply of that
product ? Explain.

OR

What is revenue ? Explain the relation between marginal revenue
and average revenue.

14, TF T%] & AFR SqeE § ¢ | AR H g el SflEme S e HHenRy, S
1)  ufq ® “sE e S
i) | A CFH e W | 6
Tora

@a@mwﬁwﬁé!ﬁhsﬁﬂﬁﬁ@-w“qﬁg”aﬁr%éﬁww
ﬁﬁs‘qﬁaﬁqqﬁmlmﬁm%@ﬁwé!dl?mm?ﬂﬂmu FT |
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Market for a good is in equilibriiim.' Explain the chain of reactions in
the market when there is ~

1) “decrease” in supply.

(i)  “decrease” in demand.
OR

Market for a good is in equilibrium. There is simultaneous “increase”
both in demand and supply but there is no change in price. Explain
how is it possible. Use a schedule.

15. fr=fafea § 9g SN
() ¥ oRed s ¥ o
(i) = ¥ I T W
Explain the distinction between :
1) ‘Change in demand’ and ‘Change in quantity demaﬁded’

(ii)  Budget set and Budget line

16. WA S % Frm & SUR gel 3G ¥ uREdd & G0 SR | G W &
B FRoT ff gEeET | ey § Oy i |

State the phases of changes in total product in the Law of Variable
Proportions. Also explain the reason behind each phase. Use diagram.

T : freafefad Fv7 da gfEgiT wdiemeat & g 599 e 16 & & W E |

Note :  The following question is for the Blind Candidates only, in lieu
of Q. No. 16.

TRedt sl & frm % OER 3O IR ORedd & T SART | S w0
F 09 FRoT O GUSRY | Aifes &S ST | |

State the phases of changes in total product in the Law of Variable
Proportions. Also explain the reason behind each phase. Use a
schedule. ‘
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. SECTION B

17. e fafme 8 = ofme 8 2 | L 1

What is a flexible exchange rate ?

18. aree FU S IR T 1 1

Define indirect tax.

19. gofra awqel @ g ST | | o 1
Define capital goods.

20. wa® R F A qT | | | 1

Defirie flow variables:

21. S g A F AIEE 2 : | 1
What is bank money ? : ' |

22. T AT W freel 7 gfs ﬁ&»"rﬁ;fq : - ' 3
@ mEeEE . 15000 |
(i)  3dRA T%ia?r(gasrs‘) e 9,000
(i) Seed & 9T TR FEd (%) 4
Gv) om@ S a TR 2,000
W TEEIEE oo
(f}i) <l ﬁf:q}{qﬁﬁ ®) o L (__) 1,000
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23.

24.

25.

Find Net Value Added at Factor Cost :

1) Intermediate costs () 15,000
- (i)  Output sold (units) 9,000
(iii) ~ Price per unit of output (?)‘ 4
(iv) . Consumption of fixed capital (T) 2,000
(v) Excig.e duty ) 4,000
(vi) ~ Change in stock (%) (=) 1,000

TR g § TS = SR G o & w3 SRT | YT 57 SR
IS :

AT

T FH AN G FH H TEHN o H GHE GHIET |

Distinguish between revenue expenditure and capital expenditure in a
government budget. Give example in each case.

OR

Explain the role of government budget in reducing income
inequalities.

T F R s w1 e |

Explain the ‘unit of account’ function of money.

frfafaa & 399 = 99 S
WA (FATH) 399 = T 150
Hafe 3g9T Wit = 075
Te 3 = T 1,000

Find consumption expenditure from the following :
Autonomous consumption = ¥ 150
Marginal propensity to consume = 075
National income = ¥ 1,000
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26. T & @ ¥ 3N o i wwd g% P o 3 W T fa @y | 3

Draw consumption curve and saving curve in a single diagram and
mark the ‘break-even point’.

27. UYH oy "M T Frefafad & 9 T Seer A ST Aifee 2 i W %
faw st e | 4

Q)  fraee 9 3w SEr W 3ER

(i) e o o< foRUEr g e

How should the following be treated while estimating national income ?

Give reasons for your answer.
(1) Festival gift from an employer

(ii)  Rent free house from an employer

28. UM I8¢ wafgss URT S SFUNON YUIET | 99 I Udl Il ‘% ? 4

Explain the concept of ‘primary deficit’ in a government budget. What
does it indicate ?

29. g g% W T A FE wHET | 4
I ‘ ‘
gifefess aterar sEOE iR e fed o & d Sfa wEeEy |
Explain ‘Bank of issue’ function of central bank.
OR

Explain the distinction between ‘Statutory liquidity ratio’ and ‘Legal
reserve ratio’. '
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30. (a)waﬁwmw@amaﬁﬂmﬁéﬁﬁﬁwa@(ﬁmw

T ST

1) fEa T T e

(i) e svem =

(i) freft sifm g ==

(iv)  wE sifem s =
(v) e s ore o Frfor
(vi) fHodt

(vi)) faeslt & M9 Fr e
(viii) W

(o ¥ v

4, 2

R #g)

1,100
120
750
250

200

(=) 40

©) 20
. 50
10

Find out (a) Gross National Product at Market Price and (b) Net

Current Transfers from Abroad.

(1) Net national disposable income

(11)  Net indirect tax

(i)  Private final consumption expenditure

(iv) Government final consumption expenditure
(v)  Net domestic fixed capital formatioﬁ

(vi)  Net imports

(vii) Net factor income to abroad

(viii) Depreciation

(ix) Change in stock

58/2/2 10
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31.

32.

58/2/2 11 1,750

foeht fafma 1 @t o O YO % -3 Fd I@EL | HROT & gC faeeh e
= 3k Ry fafma &t ofd 3 &9 gy 9w |
Give two sources each of demand and supply of foreign exchange.

Giving reason explain the relation between forelgn exchange rate and
supply of foreign exchange. '

‘SO ST F SEROT WIS | W B FC ¥ G AR A et &
gy o FHST |

' . YT
‘oifter W S SEUNOT GHART | IR % S A O% e of
REEIEIER I
Explain the concept of ‘deflationary gap’. Also explain the role of
‘open market operations’ in reducing it.

OR

Explain the concept of ‘excess demand’. Also explain the role of ‘Bank
Rate’ in reducing it.




